
ECE 2210 / 00      Capacitor Lecture Notes i C A. Stolp
2/17/03
rev 9/18/06Now that we have voltages and currents which can be 

functions of time, it's time to introduce the capacitor and the 
inductor.
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makes sense, current 
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Steady-state or Final conditions

If a circuit has been connected for "a long 
time", then it has reached a steady state 
condition.  that means the currents and 
voltages are no longer changing.
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Electrical 
equivalent:Fluid Model: i L v L

-
L = ..µ o N2 K

µ is the permeability of the inductor core

K is a constant which depends on the inductor geometry 

N is the number of turns of wire

Units: henry =
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initial current/Basic equations
you should know:
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sense, voltage has to present to 
make current change, so voltage 
comes first.
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Steady-state of Final conditions
If a circuit has been connected for "a long 
time", then it has reached a steady state 
condition.  that means the currents and 
voltages are no longer changing.
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